Module 6 Assignment 3 

Three examples of each category of questions. 

1. Questions of Procedure (established or one system) 

How long does it take to charge and electric car? Specifically the Chevy Bolt on a level 3 charging station?  


2. Questions of Preference (no system)

How do I get to O’hare Airport? 
Answer: one can take the train, drive their car or take a bus.  
There are advantages and disadvantages to either of these methods. And with in each method there are different options.  


3. Questions of Judgment ( conflicting systems) 


Should we manufacture gym shoes with in our country or should we outsource it to another country? 



Module 6 Assignment 5

An example of a simple conceptual question. 

What is the difference in appearance between an Ash tree and a Walnut Tree? 

In Arboriculture this would be a simple conceptual question.  The difference in appearance between these trees is not trivial or up to debate.  The bark , branch patterns and the leaves are how trees are identified.  

An example of a complex conceptual question. 

How do we prevent recidivism? 

This is a complex conceptual question within Criminal Justice.  There are different theories for why people who have been arrested and incarcerated for a crime, often repeat the same offense.   Often the 4 “conceptual tools for conceptual questions” are used in debates about recidivism.  
